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(APPLICATION ORIENTED COURSE) 

APM - 01 : INTEGRATED PEST MANAGEMENT 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Attempt any eight 
questions from question no. 2 to 10. 

1. (a) Define the following terms. 5 

(i) Pheromone 

(ii) Pest 

(iii) Parasitoid 

(iv) LD50  

(v) IPM module 

(b) Expand the following abbreviations. 5 

(i) GEP 

(ii) DDT 

(iii) FFS 

(iv) SIT 

(v) IGR 
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(c) Match the items given under column I with 	5 
those given under column II. 

column I column II 
(i) Trap crop (A) Insecticide 
(ii) Termite (B) Predator 
(iii) Lady bird beetle (C) Social insect 
(iv) Malathion (D) Okra 
(v) Antifeedant (E) Neem 

(d) Fill in the blanks : 	 5 
(i) A pesticide toxic to mites and ticks is 

called 	 
(ii) A layer of material laid over the soil 

to prevent weed growth and reduce 
water loss is called 	 

(iii) Restrictions to prevent pest spread 
from infested to non - infested regions 
is termed as 	 

(iv) Insecticides formulation suspended in 
air in the form of very fine droplets is 
called 	 

(v) Pest that feeds on single species of 
plant is called 	 

2. 	Differentiate between the following pairs of 10 
terms : 
(a) Economic threshold (ET) and Economic 

Injury Level (EIL) 
(b) Perennial and severe pests 
(c) Adults of Anopheles and Aedes mosquito 
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(d) Repellent and Attractant 

(e) Water trap and Pitfall trap 

	

3. 	Name two pests each of cotton and paddy. Explain 10 
the damage caused by them and their control 
measures. 

	

4. 	Write short notes on any two of the following : 
(a) Remote sensing 	 5x2=10  

(b) SIT in pest management 

(c) Bt cotton 

5. Why is adoption of IPM programmes low ? What 10 

strategies should be adopted in future to promote 
IPM ? 

	

6. 	(a) How are Plant Health Clinics (PHCs) helpful 	5 
to the farmers ? 

(b) Explain the significance of pest modelling 	5 
in IPM. 

	

7. 	Define biological control. Describe various types 10 
of biocontrol agents. Discuss the merits and 
constraints of biological control. 

	

8. 	(a) How is the Economic Threshold (ET) used 	5 
in making pest management decisions ? 

(b) Discuss advantages and limitations in the 	5 
use of insect resistant varieties of plants. 
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9. (a) Explain IPM module of mustard. 	 5 

(b) What are the similarities between IPM and 	5 

sustainable agriculture ? 

10. Explain pesticide resistance and pest resurgence. 10 
Describe the management practices for pesticide 
resistance and pest resurgence. 
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